
 52 
 247 

 821,5  5  5 

A

A

5

1

 25 

 3 

 3
00

 

B

SECTION A-A

9

10

5

 3
 

 5
 

 4 
 3 

DETAIL B
SCALE 1 : 2

13

12

7

5

1 52 
 20 

 85 

 2
0 

 M8 (2x) 
 M5 (2x) 

 1
0 

7

8

6

3

11

2
4

6
8

7
13

12

REVISIONS

REV. DESCRIPTION DATE APP

13 1 - OEM striker
12 2 - OEM bolt
11 4 10548 Hex nut low M8 - A2-70 - DIN 439B
10 3 9867 Blind rivet nut M8 - reach 0,5-3mm - class 8
9 4 16066 Countersunk M8x16 - A2-70 - ISO 10642
8 2 11110 Button head flange M8x20 - A2-70 - ISO 7830
7 1 19753 Threadplate S235JR, 5mm
6 2 11076d Southco latch pin S235JR
5 1 19737 Cover plate assembly EN AW-5754, 3mm
4 1 18698 Hinge bracket left S235JR, 5mm
3 1 18618d Hinge bracket right S700MC, 5mm
2 1 18334a Hinge tube S235JR, ø25mm x 3
1 1 19772 Base ramp sheet metal EN AW-5754, 4mm

No. Qty. Part. Description Material

-
Weight

S. Voormolen

Title

Drawn by
Date
Department

-Mercedes Citan Tourer L? 2021-
-Renault Kangoo L? 2021-
-Nissan Townstar L? 2021-
-
-
-

Car(s)

Ramp door lock, luggage 
compartment door

-
Material

23-03-2022

Homologation number

Notes
- Measurements in mm
- Tolerance ±0.5mm
- Homologation drawing,
prior to modification please
consult Homologation
department
-LHD and RHD

All rights remain with TRIPOD MOBILITY BV. This applies 
especially to rights of invention. know-how, copyrights 
and rights to name as well as for the rights to patent 
these as commercial protective rights. All rights of 
disposition, particulary for copying or distributing 
reserved. Approval of first supply and change according 
to TRIPOD MOBILITY BV. 

Subgroup

Homologation

HOM-120-FKL?

Locks and door hinges

1 of 1

Sheets

1:8 A4
Scale Part No.

19961

65432

B

1

A

C

D

3rdM O B I L I T Y
TRIPOD www.tripodmobility.com - Collseweg 10, 5674 TR Nuenen, the Netherlands

T +31(0)40 283 6442 - E info@tripodmobility.com


	Sheet1
	Drawing View1
	Section View A-A
	Detail View B (1 : 2)
	Drawing View6
	Drawing View7


